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Question 1. ( 25 points)

1.1 A wholesaler sells an article to a retailer for E 260 which represents a profit to the wholesaler of
30%.The retailer then sells the articles to a customer at a profit of 25%.Calculate the total
percentage profit based on the price the wholesaler paid?

(10 points)

1.2. Factorize (a +b)?-4c? (10 points)

- ~ 2 - Skt .
1.3 Express 2?;3 - -3-3;—13 s % as a single fraction in the lowest terms. (5 points)

Question 2 (25 points)

_ 3x+7

. X | 3x-1
2.1 Solve the equation iy R m e

(10 points)

2.2 Find the solution set of system of simultaneous equation. (10 points)
X* + y? -6x +5y =2

X+y=9

2.3. Find the solution of exponential equation (5 points)

x* =1/27
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Question 3( 25 points)

3.1. Find the solution set of logarithmic equation. (10 points)

Iogzlax-l) + ’ngx =1
3.2.Ifcos A =-1—§ find the values of sin A and tan A without calculator? ( 10 points)

3.3 A man 1.5 m tall observes the angle of elevation of a tree to be 20°. If he is standing 10 m
from the tree, find the height of the tree. (5 points)
Question 4 ( 25 points)

4.1. Differentiate the following with respect to x
a) y = -4x* +2x? -0.8x+84

b) y= fs ( 7 points)
4.2 Ifg—i’- =5+8xand y= 10 when x =1 ,find y in terms of x. (6 points)

4.3 Evaluate fol x* + 5x + 47dx
(6 points)

END OF PAPER

b\



